# SYMMETRY IDENTITIES FOR GENERALIZED HERMITE-BASED APOSTOL-EULER AND APOSTOL-GENOCCHI POLYNOMIALS 

WASEEM A. KHAN, NABIULLAH KHAN, SARVAT ZIA


#### Abstract

Recently, Pathan and Khan introduced a new class of generalized Hermite-Apostol-Euler polynomials and Hermite-Apostol-Genocchi polynomials. Motivated by the works of Pathan and Khan, in the present paper, we define a symmetric identities for generalized Hermite-Apostol-Euler polynomials and Hermite-Apostol-Genocchi polynomials. These results extend some known summation and identities for generalized Apostol type polynomials.


## 1. Introduction

The 2-variable Kampé de Fériet generalization of the Hermite polynomials [3] and [4] defined as

$$
\begin{equation*}
H_{n}(x, y)=n!\sum_{r=0}^{\left[\frac{n}{2}\right]} \frac{y^{r} x^{n-2 r}}{r!(n-2 r)!} \tag{1.1}
\end{equation*}
$$

These polynomials are usually defined by the generating function

$$
\begin{equation*}
e^{x t+y t^{2}}=\sum_{n=0}^{\infty} H_{n}(x, y) \frac{t^{n}}{n!} \tag{1.2}
\end{equation*}
$$

and reduce to the ordinary Hermite polynomials $H_{n}(x)$ (see [1]) when $y=-1$ and $x$ is replaced by $2 x$.

The classical Bernoulli polynomials $B_{n}(x)$, the classical Euler polynomials $E_{n}(x)$ and the classical Genocchi polynomials $G_{n}(x)$, together with their familiar generalizations $B_{n}^{(\alpha)}(x), E_{n}^{(\alpha)}(x)$ and $G_{n}^{(\alpha)}(x)$ of (real or complex) order $\alpha$ are usually defined by means of the following generating functions (see for details[1], [2], [5], [15-20] and the references cited therein):

$$
\begin{equation*}
\left(\frac{t}{e^{t}-1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{(\alpha)}(x) \frac{t^{n}}{n!},\left(|t|<2 \pi ; 1^{\alpha}=1\right) \tag{1.3}
\end{equation*}
$$

[^0]\[

$$
\begin{equation*}
\left(\frac{2}{e^{t}+1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} E_{n}^{(\alpha)}(x) \frac{t^{n}}{n!}, \quad\left(|t|<\pi ; 1^{\alpha}=1\right) \tag{1.4}
\end{equation*}
$$

\]

and

$$
\begin{equation*}
\left(\frac{2 t}{e^{t}+1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} G_{n}^{(\alpha)}(x) \frac{t^{n}}{n!}, \quad\left(|t|<\pi ; 1^{\alpha}=1\right) \tag{1.5}
\end{equation*}
$$

So that

$$
\begin{equation*}
B_{n}(x)=B_{n}^{(1)}(x) ; E_{n}(x)=E_{n}^{(1)}(x) ; G_{n}(x)=G_{n}^{(1)}(x), n \in \mathbb{N}_{0}=N \cup\{0\} \tag{1.6}
\end{equation*}
$$

In particular, Luo and Srivastava $[6,7]$ and Luo [8-14] introduced the generalized Apostol-Bernoulli polynomials $B_{n}^{(\alpha)}(x ; \lambda)$ of order $\alpha \in \mathbb{C}$, the generalized ApostolEuler polynomials $E_{n}^{(\alpha)}(x ; \lambda)$ of order $\alpha \in \mathbb{C}$ and the generalized Apostol-Genocchi polynomials $G_{n}^{(\alpha)}(x ; \lambda)$ of order $\alpha \in \mathbb{C}$ defined as follows:

Definition 1.1. The generalized Apostol-Bernoulli polynomials $B_{n}^{(\alpha)}(x)$ of order $\alpha$ are defined by means of the generating function

$$
\begin{equation*}
\left(\frac{t}{\lambda e^{t}-1}\right)^{\alpha}=\sum_{n=0}^{\infty} B_{n}^{(\alpha)}(x ; \lambda) \frac{t^{n}}{n!},\left(|t|<2 \pi, \text { if } \lambda=1 ;|t|<|\log \lambda|, \text { if } \lambda \neq 1 ; 1^{\alpha}=1\right) \tag{1.7}
\end{equation*}
$$

with

$$
B_{n}^{(\alpha)}(x)=B_{n}^{(\alpha)}(x ; 1)
$$

and

$$
\begin{equation*}
B_{n}^{(\alpha)}(\lambda)=B_{n}^{(\alpha)}(0 ; \lambda) \tag{1.8}
\end{equation*}
$$

where $B_{n}^{(\alpha)}(\lambda)$ denotes the so called Apostol-Bernoulli numbers of order $\alpha$.
Definition 1.2. The generalized Apostol-Euler polynomials $E_{n}^{(\alpha)}(x)$ of order $\alpha$ are defined by means of the generating function

$$
\begin{equation*}
\left(\frac{2}{\lambda e^{t}+1}\right)^{\alpha}=\sum_{n=0}^{\infty} E_{n}^{(\alpha)}(x ; \lambda) \frac{t^{n}}{n!},\left(|t|<|\log (-\lambda)|<\pi, 1^{\alpha}=1\right) \tag{1.9}
\end{equation*}
$$

with

$$
E_{n}^{(\alpha)}(x)=E_{n}^{(\alpha)}(x ; 1)
$$

and

$$
\begin{equation*}
E_{n}^{(\alpha)}(\lambda)=E_{n}^{(\alpha)}(0 ; \lambda) \tag{1.10}
\end{equation*}
$$

where $E_{n}^{(\alpha)}(\lambda)$ denotes the so called Apostol-Euler numbers of order $\alpha$.
Definition 1.3. The generalized Apostol-Genocchi polynomials $G_{n}^{(\alpha)}(x)$ of order $\alpha$ are defined by means of the generating function

$$
\begin{equation*}
\left(\frac{2 t}{\lambda e^{t}+1}\right)^{\alpha}=\sum_{n=0}^{\infty} G_{n}^{(\alpha)}(x ; \lambda) \frac{t^{n}}{n!},\left(|t|<|\log (-\lambda)|<\pi, 1^{\alpha}=1\right) \tag{1.11}
\end{equation*}
$$

with

$$
\begin{equation*}
G_{n}^{(\alpha)}(x)=G_{n}^{(\alpha)}(x ; 1), G_{n}^{(\alpha)}(\lambda)=G_{n}^{(\alpha)}(0 ; \lambda) \tag{1.12}
\end{equation*}
$$

where $G_{n}^{(\alpha)}(\lambda)$ denotes the so called Apostol-Genocchi numbers of order $\alpha$.

Very recently, Pathan and Khan [20] studied a new family of generalized Hermite-Apostol-Bernoulli, Hermite-Apostol-Euler and Hermite-Apostol-Genocchi polynomials of order $\alpha$ in the following form:

Definition 1.4. For arbitrary real or complex parameter $\alpha$ and for $a, c \in \Re^{+}$, the generalized Hermite-Apostol-Bernoulli polynomials ${ }_{H} B_{n}^{[m-1, \alpha]}(x ; a, c, \lambda), m \in$ $\mathbb{N}, \lambda \in \mathbb{C}$ are defined in a suitable neighborhood of $t=0$ with $|t \log (a)<|\log (-\lambda)|$, by means of the following generating function:

$$
\begin{equation*}
t^{m \alpha}[A(\lambda, a ; t)]^{\alpha} c^{x t+y t^{2}}=\sum_{n=0}^{\infty} H_{n}^{[m-1, \alpha]}(x, y ; a, c, \lambda) \frac{t^{n}}{n!} \tag{1.13}
\end{equation*}
$$

where

$$
\begin{equation*}
A(\lambda, a ; t)=\left(\lambda a^{t}-\sum_{h=0}^{m-1} \frac{(t \log a)^{h}}{h!}\right)^{-1} \tag{1.14}
\end{equation*}
$$

It is easy to see that if we set $y=0$ in (1.13), we arrive at a recent result of Tremblay et al. [21;p.3, Eq.(1.8)] involving the generalized Apostol-Bernoulli polynomials

$$
\begin{equation*}
t^{m \alpha}[A(\lambda, a ; t)]^{\alpha} c^{x t}=\sum_{n=0}^{\infty} B_{n}^{[m-1, \alpha]}(x, y ; a, c, \lambda) \frac{t^{n}}{n!} \tag{1.15}
\end{equation*}
$$

For $c=e$ in (1.13) gives

$$
\begin{equation*}
t^{m \alpha}[A(\lambda, a ; t)]^{\alpha} e^{x t+y t^{2}}=\sum_{n=0}^{\infty}{ }_{H} B_{n}^{[m-1, \alpha]}(x, y ; a, e, \lambda) \frac{t^{n}}{n!} \tag{1.16}
\end{equation*}
$$

Moreover if we set $y=0, m=1, a=c=e$ in (1.13), we arrive at the following result

$$
\begin{equation*}
\left(\frac{t}{\lambda e^{t}-1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} B_{n}^{[0, \alpha]}(x ;, e, e, \lambda) \frac{t^{n}}{n!},\left(|t|<2 \pi, 1^{\alpha}=1\right) \tag{1.17}
\end{equation*}
$$

This is the generating function for the generalized Apostol-Bernoulli polynomials of order $\alpha$. Thus we have

$$
\begin{equation*}
B_{n}^{[0, \alpha]}(x ;, e, e, \lambda)=B_{n}^{[\alpha]}(x ; \lambda) \tag{1.18}
\end{equation*}
$$

Definition 1.5. For arbitrary real or complex parameter $\alpha$ and $a, c \in \Re^{+}$, the generalized Apostol-Hermite-Euler polynomials ${ }_{H} E_{n}^{[m-1, \alpha]}(x, y ; a, c, \lambda), m \in \mathbb{N}, \lambda \in$ $\mathbb{C}$ are defined in a suitable neighborhood of $t=0$ with $|t \log a|<|\log (-\lambda)|$ by means of generating function

$$
\begin{equation*}
2^{m \alpha}[B(\lambda, a ; t)]^{\alpha} c^{x t+y t^{2}}=\sum_{n=0}^{\infty} H_{n}^{[m-1, \alpha]}(x, y ; a, c, \lambda) \frac{t^{n}}{n!} \tag{1.19}
\end{equation*}
$$

where

$$
\begin{equation*}
B(\lambda, a ; t)=\left(\lambda a^{t}+\sum_{h=0}^{m-1} \frac{(t \log a)^{h}}{h!}\right)^{-1} \tag{1.20}
\end{equation*}
$$

It is easy to see that if we set $y=0$ in (1.19), we arrive at a recent result of Tremblay et al. [21;p.3, Eq.(2.1)] involving the generalized Apostol-Euler polynomials

$$
\begin{equation*}
2^{m \alpha}[B(\lambda, a ; t)]^{\alpha} c^{x t}=\sum_{n=0}^{\infty} E_{n}^{[m-1, \alpha]}(x ; a, c, \lambda) \frac{t^{n}}{n!} \tag{1.21}
\end{equation*}
$$

For $c=e$ in (1.19) gives

$$
\begin{equation*}
2^{m \alpha}[B(\lambda, a ; t)]^{\alpha} e^{x t+y t^{2}}=\sum_{n=0}^{\infty} H_{n}^{[m-1, \alpha]}(x, y ; a, e, \lambda) \frac{t^{n}}{n!} \tag{1.22}
\end{equation*}
$$

Moreover if we set $y=0, m=1, a=c=e$ in (1.19), we arrive at the following result

$$
\begin{equation*}
\left(\frac{2}{\lambda e^{t}+1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} E_{n}^{[0, \alpha]}(x ;, e, e, \lambda) \frac{t^{n}}{n!},\left(|t|<\pi, 1^{\alpha}=1\right) \tag{1.23}
\end{equation*}
$$

This is the generating function for the generalized Apostol-Euler polynomials of order $\alpha$. Thus we have

$$
\begin{equation*}
E_{n}^{[0, \alpha]}(x ;, e, e, \lambda)=E_{n}^{[\alpha]}(x ; \lambda) \tag{1.24}
\end{equation*}
$$

Definition 1.6. For arbitrary real or complex parameter $\alpha$ and $a, c \in \Re^{+}$, the generalized Hermite-Apostol-Genocchi polynomials ${ }_{H} G_{n}^{[m-1, \alpha]}(x, y ; a, c, \lambda), m \in$ $\mathbb{N}, \lambda \in \mathbb{C}$ are defined in a suitable neighborhood of $t=0$ with $|t \log a|<|\log (-\lambda)|$ by means of generating function

$$
\begin{equation*}
2^{m \alpha} t^{m \alpha}[B(\lambda, a ; t)]^{\alpha} c^{x t+y t^{2}}=\sum_{n=0}^{\infty}{ }_{H} G_{n}^{[m-1, \alpha]}(x, y ; a, c, \lambda) \frac{t^{n}}{n!} \tag{1.25}
\end{equation*}
$$

where $B(\lambda, a ; t)$ is given by equation (1.20). It is easy to see that if we set $y=0$ in (1.25), we arrive at a recent result of Tremblay et al. [21;p.5, Eq.(2.4)] involving the generalized Apostol-Genocchi polynomials

$$
\begin{equation*}
2^{m \alpha} t^{m \alpha}[B(\lambda, a ; t)]^{\alpha} c^{x t}=\sum_{n=0}^{\infty} G_{n}^{[m-1, \alpha]}(x ; a, c, \lambda) \frac{t^{n}}{n!} \tag{1.26}
\end{equation*}
$$

For $c=e$ in (1.25) gives

$$
\begin{equation*}
2^{m \alpha} t^{m \alpha}[B(\lambda, a ; t)]^{\alpha} e^{x t+y t^{2}}=\sum_{n=0}^{\infty}{ }_{H} G_{n}^{[m-1, \alpha]}(x, y ; a, e, \lambda) \frac{t^{n}}{n!} \tag{1.27}
\end{equation*}
$$

Obviously if we set $y=0, m=1, a=c=e$ in (1.25), we arrive at the following result

$$
\begin{equation*}
\left(\frac{2 t}{\lambda e^{t}+1}\right)^{\alpha} e^{x t}=\sum_{n=0}^{\infty} G_{n}^{[0, \alpha]}(x ;, e, e, \lambda) \frac{t^{n}}{n!},\left(|t|<\pi, 1^{\alpha}=1\right) \tag{1.28}
\end{equation*}
$$

This is the generating function for the generalized Apostol-Genocchi polynomials of order $\alpha$. Thus we have

$$
\begin{equation*}
G_{n}^{[0, \alpha]}(x ;, e, e, \lambda)=G_{n}^{[\alpha]}(x ; \lambda) \tag{1.29}
\end{equation*}
$$

In this paper, we established a symmetry identities for generalized Hermite-ApostolEuler and Hermite-Apostol-Genocchi polynomials. These results extend known summation and identities of Apostol-Hermite-Euler and Apostol-Hermite-Genocchi polynomials studied by Khan and Pathan and Khan.

## 2. Symmetry identities for generalized Hermite-Apostol-Euler POLYNOMIALS

In this section, we give general symmetry identities for the generalized Hermite-Apostol-Euler polynomials ${ }_{H} E_{n}^{[\alpha, m-1]}(x, y ; a, c, \lambda)$ by applying the generating functions (1.19) and (1.21). Throughout this section $\alpha$ will be taken as an arbitrary real or complex parameter.

Theorem 2.1. Let for all integers $a>0, b>0, c>0, a \neq b, x, y \in \mathbb{R}$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b_{H}^{k} E_{n-k}^{[\alpha, m-1]}\left(b x, b^{2} y ; c ; \lambda\right)_{H} E_{k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{k} b^{n-k}{ }_{H} E_{n-k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right)_{H} E_{k}^{[\alpha, m-1]}\left(b x, b^{2} y ; c, \lambda\right) . \tag{2.1}
\end{align*}
$$

Proof. Start with

$$
\begin{equation*}
G(t):=\left(\frac{2^{2 m}}{\left(\lambda c^{a t}+\sum_{h=0}^{m-1} \frac{(t \log a)^{h}}{h!}\right)\left(\lambda c^{b t}+\sum_{h=0}^{m-1} \frac{(t \log b)^{h}}{h!}\right)}\right)^{\alpha} c^{a b x t+a^{2} b^{2} y t^{2}} \tag{2.2}
\end{equation*}
$$

Then the expression for $G(t)$ is symmetric in a and b and we can expand $G(t)$ into series in two ways to obtain

$$
\begin{align*}
& G(t)=\frac{1}{(a b)^{\alpha m}} \sum_{n=0}^{\infty} H_{n} E_{n}^{[\alpha, m-1]}\left(b x, b^{2} y ; c, \lambda\right) \frac{(a t)^{n}}{n!} \sum_{k=0}^{\infty} H_{k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \frac{(b t)^{k}}{k!} \\
& \quad=\frac{1}{(a b)^{\alpha m}} \sum_{n=0}^{\infty} \sum_{k=0}^{n} H_{H} E_{n-k}^{[\alpha, m-1]}\left(b x, b^{2} y ; c, \lambda\right) \frac{(a)^{n-k}}{(n-k)!} H_{k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \frac{b^{k}}{k!} t^{n} \tag{2.3}
\end{align*}
$$

On the similar lines we can show that

$$
\begin{equation*}
G(t):=\frac{1}{(a b)^{\alpha m}} \sum_{n=0}^{\infty}{ }_{H} E_{n}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \frac{b^{n-k}}{(n-k)!} H E_{k}^{[\alpha, m-1]}\left(b x, b^{2} y ; c, \lambda\right) \frac{a^{k}}{k!} t^{n} \tag{2.4}
\end{equation*}
$$

By comparing the coefficients of $\frac{t^{n}}{n!}$ on the right hand sides of the last two equations, we arrive the desired result.

Remark 2.1. For $\lambda=1, c=e$, Theorem (2.1) reduces to a known result of Pathan and Khan [18.p.104., Theorem 4.1]. Further by taking $m=1$ in Theorem 2.1, we immediately deduce the following result

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b_{H}^{k} E_{n-k}^{(\alpha)}\left(b x, b^{2} y ; c, \lambda\right)_{H} E_{k}^{(\alpha)}\left(a x, a^{2} y ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{k} b^{n-k}{ }_{H} E_{n-k}^{(\alpha)}\left(a x, a^{2} y ; c, \lambda\right)_{H} E_{k}^{(\alpha)}\left(b x, b^{2} y, c, \lambda\right) . \tag{2.5}
\end{align*}
$$

Remark 2.2. By setting $b=1$ in Theorem (2.1), we get the following result

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a_{H}^{n-k} E_{n-k}^{[\alpha, m-1]}(x, y ; c, \lambda)_{H} E_{k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{k} b^{n-k} E_{n-k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right)_{H} E_{k}^{[\alpha, m-1]}(x, y ; c, \lambda) . \tag{2.6}
\end{align*}
$$

Theorem 2.2. Let $a, b, c>0$ and $a \neq b$. For $x, y \in \mathbb{R}$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} E_{n-k}^{(\alpha)}\left(b x+\frac{b}{a} i+j, b^{2} z ; c ; \lambda\right) E_{k}^{(\alpha)}(a y ; c, \lambda) \\
= & \sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} E_{n-k}^{(\alpha)}\left(a x+\frac{a}{b} i+j, a^{2} z ; c, \lambda\right) E_{k}^{(\alpha)}(b y ; c, \lambda) . \tag{2.7}
\end{align*}
$$

Proof. Let

$$
\begin{align*}
& G(t):=\frac{(2 a)^{\alpha}(2 b)^{\alpha}\left(\lambda c^{a b t}+1\right)^{2} c^{a b(x+y) t+a^{2} b^{2} z t^{2}}}{\left(\lambda c^{a t}+1\right)^{\alpha+1}\left(\lambda c^{b t}+1\right)^{\alpha+1}} \\
& G(t):=\left(\frac{2 a}{\lambda c^{a t}+1}\right)^{\alpha} c^{a b x t+a^{2} b^{2} z t^{2}}\left(\frac{\lambda c^{a b t}+1}{\lambda c^{b t}+1}\right)\left(\frac{2 b}{\lambda c^{b t}+1}\right)^{\alpha} c^{a b y t}\left(\frac{\lambda c^{a b t}+1}{\lambda c^{a t}+1}\right) \\
& =\left(\frac{2 a}{\lambda c^{a t}+1}\right)^{\alpha} c^{a b x t+a^{2} b^{2} z t^{2}} \sum_{i=0}^{a-1}(-\lambda)^{i} c^{b t i}\left(\frac{2 b}{\lambda c^{b t}+1}\right)^{\alpha} c^{a b y t} \sum_{j=0}^{b-1}(-\lambda)^{j} c^{a t j}  \tag{2.8}\\
& =\sum_{n=0}^{\infty} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} E_{n}^{(\alpha)}\left(b x+\frac{b}{a} i+j, b^{2} z ; c, \lambda\right) \frac{(a t)^{n}}{n!} \sum_{k=0}^{\infty} E_{k}^{(\alpha)}(a y ; c, \lambda) \frac{(b t)^{k}}{(k)!} \\
& =\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} E_{n-k}^{(\alpha)}\left(a x+\frac{b}{a} i+j, b^{2} z ; c, \lambda\right) E_{k}^{(\alpha)}(a y ; c, \lambda)\right) \frac{t^{n}}{n!} \tag{2.9}
\end{align*}
$$

On the other hand
$G(t):=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} E_{n-k}^{(\alpha)}\left(b x+\frac{a}{b} i+j, a^{2} z, c, \lambda\right) E_{k}^{(\alpha)}(b y ; c, \lambda)\right) \frac{t^{n}}{n!}$
By comparing the coefficients of $\frac{t^{n}}{n!}$ on the right hand sides of the last two equations, we arrive at the desired result.

Remark 2.3. For $\lambda=1, c=e$, Theorem (2.2) reduces to known result of Pathan and Khan [18,p.105.,Theorem 4.2].

Theorem 2.3. For each pair of integers a and b and all integers and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} E_{n-k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) E_{k}^{(\alpha)}\left(a y+\frac{a}{b} j ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} E_{n-k}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) E_{k}^{(\alpha)}\left(b y+\frac{b}{a} j ; c, \lambda\right) . \tag{2.11}
\end{align*}
$$

Proof. The proof is analogous to Theorem (2.2) but we need to write equation (2.8) in the form

$$
\begin{equation*}
G(t):=\sum_{n=0}^{\infty} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} E_{n}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) \frac{(a t)^{n}}{n!} \sum_{k=0}^{\infty} E_{k}^{(\alpha)}\left(a y+\frac{a}{b} j ; c, \lambda\right) \frac{(b t)^{k}}{k!} \tag{2.12}
\end{equation*}
$$

On the other hand equation (2.8) can be shown equal to

$$
\begin{equation*}
G(t):=\sum_{n=0}^{\infty} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} E_{n}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) \frac{(b t)^{n}}{n!} \sum_{k=0}^{\infty} E_{k}^{(\alpha)}\left(b y+\frac{b}{a} j ; c, \lambda\right) \frac{(a t)^{k}}{k!} \tag{2.13}
\end{equation*}
$$

Next making change of index and by equating the coefficients of $\frac{t^{n}}{n!}$ to zero in (2.12) and (2.13), we get the result

Remark 2.4. For $\lambda=1, c=e$, Theorem (2.3) reduces to known result of Pathan and Khan [18.,p.106.,Theorem 4.3].

Remark 2.5. On setting $y=0$ in Theorem (2.3), we immediately get the following result

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} E_{n-k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) E_{k}^{(\alpha)}\left(\frac{a}{b} j ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} E_{n-k}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) E_{k}^{(\alpha)}\left(\frac{b}{a} j ; c, \lambda\right) . \tag{2.14}
\end{align*}
$$

Theorem 2.4. Let $a, b, c>0$ and $a \neq b$. For $x, y \in \mathbb{R}$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} E_{n-k}^{(\alpha)}(a y ; c, \lambda) \sum_{i=0}^{a-1}(-\lambda)^{i}{ }_{H} E_{k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} E_{n-k}^{(\alpha)}(b y ; c, \lambda) \sum_{i=0}^{b-1}(-\lambda)^{i}{ }_{H} E_{k}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) . \tag{2.15}
\end{align*}
$$

Proof. Let

$$
\begin{equation*}
G(t):=\frac{(2 a)^{\alpha}(2 b)^{\alpha}\left(1+\lambda(-1)^{a+1} c^{a b t}\right) c^{a b(x+y) t+a^{2} b^{2} z t^{2}}}{\left(\lambda c^{a t}+1\right)^{\alpha}\left(\lambda c^{b t}+1\right)^{\alpha+1}} \tag{2.16}
\end{equation*}
$$

$$
\begin{aligned}
& G(t):=\left(\frac{2 a}{\lambda c^{a t}+1}\right)^{\alpha} c^{a b x t+a^{2} b^{2} z t^{2}}\left(\frac{1-\lambda\left(-c^{b t}\right)^{a}}{\lambda c^{b t}+1}\right)\left(\frac{2 b}{\lambda c^{b t}+1}\right)^{\alpha} c^{a b y t} \\
& =\sum_{k=0}^{\infty} \sum_{i=0}^{a-1}(-\lambda)^{i}{ }_{H} E_{k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) \frac{(a t)^{k}}{k!} \sum_{n=0}^{\infty} E_{n}^{(\alpha)}(a y ; c, \lambda) \frac{(b t)^{n}}{(n)!}
\end{aligned}
$$

Replacing $n$ by $n-k$ in above equation, we have

$$
\begin{equation*}
G(t):=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \sum_{i=0}^{a-1}(-\lambda)^{i}{ }_{H} E_{k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) E_{n-k}^{(\alpha)}(a y ; c, \lambda)\right) \frac{t^{n}}{n!} \tag{2.17}
\end{equation*}
$$

On the other hand

$$
\begin{equation*}
G(t):=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \sum_{i=0}^{b-1}(-\lambda)^{i}{ }_{H} E_{k}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) E_{n-k}^{(\alpha)}(b y ; c, \lambda)\right) \frac{t^{n}}{n!} \tag{2.18}
\end{equation*}
$$

By comparing the coefficients of $\frac{t^{n}}{n!}$ on the right hand sides of the last two equations, we arrive at the desired result.

Theorem 2.5. Let $a, b, c>0, m \geq 1$ and $a \neq b$. For $x, y \in \mathbb{R}$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} E_{n-k}^{(\alpha, m)}(a y ; c, \lambda) \sum_{i=0}^{a-1}(-\lambda)^{i}{ }_{H} E_{k}^{(\alpha, m)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} E_{n-k}^{(\alpha, m)}(b y ; c, \lambda) \sum_{i=0}^{b-1}(-\lambda)^{i}{ }_{H} E_{k}^{(\alpha, m)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) . \tag{2.19}
\end{align*}
$$

3. Symmetry identities for generalized Hermite-Apostol-Genocchi POLYNOMIALS

In this section, we give general symmetry identities for the generalized Hermite-Apostol-Genocchi polynomials ${ }_{H} G_{n}^{[\alpha, m-1]}(x, y ; a, c, \lambda)$ by applying the generating functions (1.25) and (1.26). Throughout this section $\alpha$ will be taken as an arbitrary real or complex parameter.

Theorem 3.1. For all integers $a>0, b>0, c>0$ and $a \neq b$. For $x, y \in \mathbb{R}$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b_{H}^{k} G_{n-k}^{[\alpha, m-1]}\left(b x, b^{2} y ; c ; \lambda\right)_{H} G_{k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{k} b^{n-k}{ }_{H} G_{n-k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right)_{H} G_{k}^{[\alpha, m-1]}\left(b x, b^{2} y ; c, \lambda\right) . \tag{3.1}
\end{align*}
$$

Proof. Start with

$$
\begin{equation*}
H(t):=\left(\frac{2^{2 m} t^{2 m}}{\left(\lambda c^{a t}+\sum_{h=0}^{m-1} \frac{(t \log a)^{h}}{h!}\right)\left(\lambda c^{b t}+\sum_{h=0}^{m-1} \frac{(t \log b)^{h}}{h!}\right)}\right)^{\alpha} c^{a b x t+a^{2} b^{2} y t^{2}} \tag{3.2}
\end{equation*}
$$

Then the expression for $H(t)$ is symmetric in $a$ and $b$ and we can expand $H(t)$ into series in two ways to obtain

$$
\begin{align*}
H(t) & :=\frac{1}{(a b)^{\alpha m}} \sum_{n=0}^{\infty}{ }_{H} G_{n}^{[\alpha, m-1]}\left(b x, b^{2} y ; c, \lambda\right) \frac{(a t)^{n}}{n!} \sum_{k=0}^{\infty}{ }_{H} G_{k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \frac{(b t)^{k}}{k!} \\
& =\sum_{n=0}^{\infty} \sum_{k=0}^{n}{ }_{H} G_{n-k}^{[\alpha, m-1]}\left(b x, b^{2} y ; c, \lambda\right) \frac{a^{n-k}}{(n-k)!} H_{H} G_{k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \frac{b^{k}}{k!} t^{n} \tag{3.3}
\end{align*}
$$

On the similar lines we can show that

$$
\begin{equation*}
H(t):=\frac{1}{(a b)^{\alpha m}} \sum_{n=0}^{\infty}{ }_{H} G_{n}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \frac{b^{n-k}}{(n-k)!} H_{H}^{[\alpha, m-1]}\left(b x, b^{2} y ; c, \lambda\right) \frac{a^{k}}{k!} t^{n} \tag{3.4}
\end{equation*}
$$

By comparing the coefficients of $\frac{t^{n}}{n!}$ on the right hand sides of the last two equations, we arrive at the desired result.

Remark 3.1. For $m=1$ in Theorem 3.1, we immediately deduce the following result

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b_{H}^{k} G_{n-k}^{(\alpha)}\left(b x, b^{2} y ; c, \lambda\right)_{H} G_{k}^{(\alpha)}\left(a x, a^{2} y ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{k} b^{n-k}{ }_{H} G_{n-k}^{(\alpha)}\left(a x, a^{2} y ; c, \lambda\right)_{H} G_{k}^{(\alpha)}\left(b x, b^{2} y ; c, \lambda\right) . \tag{3.5}
\end{align*}
$$

Remark 3.2. On setting $b=1$ in Theorem (3.1), we immediately get the following result

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a_{H}^{n-k} G_{n-k}^{[\alpha, m-1]}(x, y ; c, \lambda)_{H} G_{k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right) \\
& =\sum_{k=0}^{n}\binom{n}{k} a_{H}^{k} G_{n-k}^{[\alpha, m-1]}\left(a x, a^{2} y ; c, \lambda\right)_{H} G_{k}^{[\alpha, m-1]}(x, y ; c, \lambda) . \tag{3.6}
\end{align*}
$$

Theorem 3.2. Let $a, b, c>0$ and $a \neq b$. For $x, y \in \mathbb{R}$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} G_{n-k}^{(\alpha)}\left(b x+\frac{b}{a} i+j, b^{2} z ; c, \lambda\right) G_{k}^{(\alpha)}(a y ; c, \lambda) \\
= & \sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} G_{n-k}^{(\alpha)}\left(a x+\frac{a}{b} i+j, a^{2} z ; c, \lambda\right) G_{k}^{(\alpha)}(b y ; c, \lambda) . \tag{3.7}
\end{align*}
$$

$$
\begin{aligned}
& \text { Proof. Let } \\
& \qquad H(t):=\frac{(2 a t)^{\alpha}(2 b t)^{\alpha}\left(\lambda c^{a b t}+1\right)^{2} c^{a b(x+y) t+a^{2} b^{2} z t^{2}}}{\left(\lambda c^{a t}+1\right)^{\alpha+1}\left(\lambda c^{b t}+1\right)^{\alpha+1}} \\
& H(t):=\left(\frac{2 a t}{\lambda c^{a t}+1}\right)^{\alpha} c^{a b x t+a^{2} b^{2} z t^{2}}\left(\frac{\lambda c^{a b t}+1}{\lambda c^{b t}+1}\right)\left(\frac{2 b t}{\lambda c^{b t}+1}\right)^{\alpha} c^{a b y t}\left(\frac{\lambda c^{a b t}+1}{\lambda c^{a t}+1}\right)
\end{aligned}
$$

$$
\begin{align*}
& =\left(\frac{2 a t}{\lambda c^{a t}+1}\right)^{\alpha} c^{a b x t+a^{2} b^{2} z t^{2}} \sum_{i=0}^{a-1}(-\lambda)^{i} c^{b t i}\left(\frac{2 b t}{\lambda c^{b t}+1}\right)^{\alpha} c^{a b y t} \sum_{j=0}^{b-1}(-\lambda)^{j} c^{a t j}  \tag{3.8}\\
= & \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} G_{n-k}^{(\alpha)}\left(a x+\frac{b}{a} i+j, b^{2} z ; c, \lambda\right) G_{k}^{(\alpha)}(a y ; c, \lambda)\right) \frac{t^{n}}{n!} \tag{3.9}
\end{align*}
$$

On the other hand

$$
\begin{equation*}
H(t):=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} G_{n-k}^{(\alpha)}\left(b x+\frac{a}{b} i+j, a^{2} z, c, \lambda\right) G_{k}^{(\alpha)}(b y ; c, \lambda)\right) \frac{t^{n}}{n!} \tag{3.10}
\end{equation*}
$$

By comparing the coefficients of $\frac{t^{n}}{n!}$ on the right hand sides of the last two equations, we arrive at the desired result.

Theorem 3.3. For each pair of integers a and b and all integers and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k}(a)^{n-k}(b)^{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} G_{n-k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) G_{k}^{(\alpha)}\left(a y+\frac{a}{b} j ; c, \lambda\right) \\
& =\sum_{k=0}^{n}\binom{n}{k}(b)^{n-k}(a)^{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} G_{n-k}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) G_{k}^{(\alpha)}\left(b y+\frac{b}{a} j ; c, \lambda\right) \tag{3.11}
\end{align*}
$$

Proof. The proof is analogous to Theorem (3.2) but we need to write equation (3.8) in the form

$$
\begin{equation*}
H(t):=\sum_{n=0}^{\infty} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} G_{n}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) \frac{(a t)^{n}}{n!} \sum_{k=0}^{\infty} G_{k}^{(\alpha)}\left(a y+\frac{a}{b} j ; c, \lambda\right) \frac{(b t)^{k}}{k!} \tag{3.12}
\end{equation*}
$$

On the other hand equation (3.8) can be shown equal to

$$
\begin{equation*}
H(t):=\sum_{n=0}^{\infty} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} G_{n}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) \frac{(b t)^{n}}{n!} \sum_{k=0}^{\infty} G_{k}^{(\alpha)}\left(b y+\frac{b}{a} j ; c, \lambda\right) \frac{(a t)^{k}}{k!} \tag{3.13}
\end{equation*}
$$

Next making change of index and by equating the coefficients of $\frac{t^{n}}{n!}$ to zero in (3.12) and (3.13), we get the result.

Remark 3.3. By setting $y=0$ in Theorem 3.3, we immediately get the following result

$$
\sum_{k=0}^{n}\binom{n}{k}(a)^{n-k}(b)^{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1}(-\lambda)^{i+j}{ }_{H} G_{n-k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) G_{k}^{(\alpha)}\left(\frac{a}{b} j ; c, \lambda\right)
$$

$$
\begin{equation*}
=\sum_{k=0}^{n}\binom{n}{k}(b)^{n-k}(a)^{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1}(-\lambda)^{i+j}{ }_{H} G_{n-k}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) G_{k}^{(\alpha)}\left(\frac{b}{a} j ; c, \lambda\right) \tag{3.14}
\end{equation*}
$$

Theorem 3.4. Let $a, b, c>0$ and $a \neq b$. For $x, y \in \mathbb{R}$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} G_{n-k}^{(\alpha)}(a y ; c, \lambda) \sum_{i=0}^{a-1}(-\lambda)^{i}{ }_{H} G_{k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} G_{n-k}^{(\alpha)}(b y ; c, \lambda) \sum_{i=0}^{b-1}(-\lambda)^{i}{ }_{H} G_{k}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) . \tag{3.15}
\end{align*}
$$

Proof. Let

$$
\begin{gather*}
H(t):=\frac{(2 a t)^{\alpha}(2 b t)^{\alpha}\left(1+\lambda(-1)^{a+1} c^{a b t}\right) c^{a b(x+y) t+a^{2} b^{2} z t^{2}}}{\left(\lambda c^{a t}+1\right)^{\alpha}\left(\lambda c^{b t}+1\right)^{\alpha+1}}  \tag{3.16}\\
H(t):=\left(\frac{2 a t}{\lambda c^{a t}+1}\right)^{\alpha} c^{a b x t+a^{2} b^{2} z t^{2}}\left(\frac{1-\lambda\left(-c^{b t}\right)^{a}}{\lambda c^{b t}+1}\right)\left(\frac{2 b t}{\lambda c^{b t}+1}\right)^{\alpha} c^{a b y t} \\
=\sum_{k=0}^{\infty} \sum_{i=0}^{a-1}(-\lambda)^{i}{ }_{H} G_{k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) \frac{a^{k}}{k!} \sum_{n=0}^{\infty} G_{n}^{\alpha}(a y ; c, \lambda) b^{n} \frac{t^{n+k}}{(n)!}
\end{gather*}
$$

Replacing $n$ by $n-k$ in above equation, we have

$$
\begin{equation*}
H(t):=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} \sum_{i=0}^{a-1}(-\lambda)^{i}{ }_{H} G_{k}^{(\alpha)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) G_{n-k}^{(\alpha)}(a y ; c, \lambda)\right) \frac{t^{n}}{n!} \tag{3.17}
\end{equation*}
$$

On the other hand

$$
\begin{equation*}
H(t):=\sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} \sum_{i=0}^{b-1}(-\lambda)^{i}{ }_{H} G_{k}^{(\alpha)}\left(a x+\frac{a}{b} i, a^{2} z, c, \lambda\right) G_{n-k}^{(\alpha)}(b y ; c, \lambda)\right) \frac{t^{n}}{n!} \tag{3.18}
\end{equation*}
$$

By comparing the coefficients of $\frac{t^{n}}{n!}$ on the right hand sides of the last two equations, we arrive at the desired result.

In view of Theorems (3.1) to (3.5), we easily obtain the following general symmetry identity

Theorem 3.5. Let $a, b, c>0, m \geq 1$ and $a \neq b$. For $x, y \in \mathbb{R}$ and $n \geq 0$, the following identity holds true:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k} G_{n-k}^{(\alpha, m)}(a y ; c, \lambda) \sum_{i=0}^{a-1}(-\lambda)^{i}{ }_{H} G_{k}^{(\alpha, m)}\left(b x+\frac{b}{a} i, b^{2} z ; c, \lambda\right) \\
= & \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k} G_{n-k}^{(\alpha, m)}(b y ; c, \lambda) \sum_{i=0}^{b-1}(-\lambda)^{i}{ }_{H} G_{k}^{(\alpha, m)}\left(a x+\frac{a}{b} i, a^{2} z ; c, \lambda\right) . \tag{3.19}
\end{align*}
$$

## References

[1] L. C. Andrews, Special functions for engineers and mathematicians, Macmillan. Co. New York, 1985.
[2] T. M. Apostol, On the Lerch zeta function, Pacific J.Math., 1(1951), 161-167.
[3] E. T. Bell, Exponential polynomials, Ann. Of Math., 35(1934), 258-277.
[4] G. Dattoli, S. Lorenzutta and C. Cesarano, Finite sums and generalized forms of Bernoulli polynomials Rendiconti di Mathematica, 19(1999), 385-391.
[5] W.A. Khan, Some properties of the generalized Apostol type Hermite-Based polynomials, Kyungpook Math. J., 55(2015), 597-614.
[6] Q. M. Luo and H. M. Srivastava, Some relationships between the Apostol-Bernoulli and Apostol-Euler polynomials, Computers and Mathematics with Applications, 51(3-4)(2006), 631-642.
[7] Q.M. Luo and H. M. Srivastava, Some generalizations of the Apostol-Bernoulli and ApostolEuler polynomials, J. Mathematics Analysis and Appl., 308(1)(2005), 290-302.
[8] Q.M. Luo and H. M. Srivastava, Some generalizations of the Apostol-Genocchi polynomials and the Stirling numbers of the second kind, Applied Mathematics and Comput., 217(12)(2011), 5702-5728.
[9] Q.M. Luo, Fourier expansions and integral representations for the Apostol-Bernoulli and Apostol-Euler polynomials, Math.of Comp., 78(2009), 2193-2208.
[10] Q.M. Luo, The multiplication formulas for the Apostol-Bernoulli and Apostol-Euler polynomials of higher order, Integral Transform and Special functions, 20(5-6)(2009), 377-391.
[11] Q.M. Luo, Some formulas for the Apostol-Euler polynomials associated with Hurwitz zeta function at rational arguments, Applicable Analysis and Discrete Mathematics, 3(2)(2009), 336-346.
[12] Q.M. Luo, Fourier expansions and integral representations for the Genocchi polynomials, J. integer Seq., 12(2009), 1-9.
[13] Q.M. Luo, q-extension for the Apostol-Genocchi polynomials, Gen. Math., 17(2009), 113-125.
[14] Q.M. Luo, Extension for the Genocchi polynomials and its Fourier expansions and integral representations, Osaka J. Math., 48(2011), 291-310.
[15] M. A. Pathan, W. A. Khan, Some implicit summation formulas and symmetric identities for the generalized Hermite based- polynomials, Acta Universitatis Apulensis, 39(2014), 113-136.
[16] M. A. Pathan, W. A. Khan, Some implicit summation formulas and symmetric identities for the generalized Hermite-Bernoulli polynomials, Mediterr. J. Math., 12 (2015), 679-695.
[17] M. A. Pathan, W. A. Khan, A new class of generalized polynomials associated with Hermite and Euler polynomials , To appear in Mediterr. J. Math., 13(2016), 913-928.
[18] M. A. Pathan, W. A. Khan, Some implicit summation formulas and symmetric identities for the generalized Hermite-Euler polynomials, East-West J. Maths., 16(1)(2014), 92-109.
[19] M. A. Pathan, W. A. Khan, A new class of generalized polynomials associated with Hermite and Bernoulli polynomials, Le Matematiche, Vol.LXX (2015), 53-70
[20] M. A. Pathan, W. A. Khan, Some new classes of generalized Hermite-based Apostol-Euler and Apostol-Genocchi polynomials, Fasciculli Mathematica, 55(2015), 153-170.
[21] R. Tremblay, S. Gaboury, B. J. Fugere, Some new classes of generalized Apostol-Euler and Apostol-Genocchi polynomials, doi:10.1155/2012/182785, Int. J. Math. and Math. Sci., 2012.

Waseem A. Khan
Department of Mathematics, Faculty of Science, Integral University, Lucknow-226026, India

E-mail address: khan346@gmail.com, wakhan@iul.ac.in
Nabiullah Khan
Department of Applied Mathematics, Faculty of Engineering and Technology, Aligarh Muslim University, Aligarh-202002, India

E-mail address: nukhanmath@gmail.com
Sarvat Zia
Department of Mathematics, Faculty of Science, Integral University, Lucknow-226026, India

E-mail address: sarvatzia@gmail.com


[^0]:    2010 Mathematics Subject Classification. 05A10, 11B65, 11B68, 33C45, 33C99.
    Key words and phrases. Hermite polynomials, Hermite-Apostol-Bernoulli polynomials, Hermite- Apostol-Euler polynomials, Hermite-Apostol-Genocchi polynomials, Symmetric identities.

    Submitted June 6, 2016.

